
[image: image1.wmf]221

1

0

11

X

0

1

X

0

2

X

prove:=(1)(2)(2)

                  ()

 ()

 ()

 (1)()(

n

nn

i

n

nini

i

n

nini

i

n

nini

i

n

n

innn

i

n

xyxy

i

n

nxyixy

i

n

nxyxixy

i

nnxyxnxy

--

=

-

=

---

=

--

=

-

æö

-+

ç÷

èø

æö

+=

ç÷

èø

æö

¾¾¾¾®+=

ç÷

èø

æö

¾¾¾¾®+=

ç÷

èø

¾¾¾¾®-+++

å

å

å

å

兩

邊

微

兩

邊

乘

兩

邊

微

121

0

21201021

01

21

1

21

)

0

0

                          

                          (1)()()

=1

n

nini

i

nn

ininini

ii

n

ini

i

nn

n

ixy

i

nnn

ixyxyixy

ii

n

ixy

i

nnxyxnxy

x

---

=

------

==

--

=

--

æö

=

ç÷

èø

æöæöæö

=+

ç÷ç÷ç÷

èøèøèø

æö

=

ç÷

èø

=-+++

å

åå

å

當

2121

1

221

1

                                        

   

 & y=1:

11=(1)(11)1(11)

=(1)(2)(2)

n

ininn

i

n

nn

i

n

innn

i

n

innn

i

----

=

--

=

æö

-+++

ç÷

èø

æö

-+

ç÷

èø

å

å


_1346584333.unknown

